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Mathematics

(Chapter — 9) (Sequences and Series)
(Class - XI)

Exercise 9.1

Question 1:
Write the first five terms of the sequences whose nth term is an= n(n + 2).

Answer 1:

an= n(n + 2)

Substituting n = 1, 2, 3, 4, and 5, we obtain
a=1(1+2)=3

a,=2(2+2)=8

a,=3(3+2)=15

a, =4(4+2)=24

a;=5(5+2)=35

Therefore, the required terms are 3, 8, 15, 24, and 35.

Question 2:
n

Write the first five terms of the sequences whose nth term is 4. e

Answer 2:

n

n+l

n

Substituting n = 1, 2, 3, 4, 5, we obtain

| | 2 2 3 3 4 4 5 5
alz—:—‘a:: =_‘a‘g=_‘_=—.(ﬁ=_—_.a;——=—
1+1 2 2+1 3 3+1 4 4+1 35 541 6

1 2 3 4 o 5

Therefore, the required terms are HYqh g 7]
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Question 3:
Write the first five terms of the sequences whose nth term is a, = 2”7

Answer 3:
adn = 2"

Substituting n = 1, 2, 3, 4, 5, we obtain

g =2=2
d,=2"=4
a,=2"=8
a;=2%=16
dy=2%=32

Therefore, the required terms are 2, 4, 8, 16, and 32.

Question 4:

2n-3
Write the first five terms of the sequences whose nt" term is a, = 6
Answer 4:
Substituting n = 1, 2, 3, 4, 5, we obtain
_2x1-3 __—_l
= 6 6
2x2-3 1
a, = = —
2 6 6
2x3-3 3 1
A, = ——— T — T —
’ 6 0 -2
. 2x4-3 5
Y6 6 &
2x5-3 7
a\_ —— = —
: 6 6 ,\('b

Therefore, the required terms are.
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Question 5:
Write the first five terms of the sequences whose nth term is a, =(-1)"" 5"

Answer 5:
Substituting n = 1, 2, 3, 4, 5, we obtain

a, =(-1)"5""=5*=25
,=(-1)""5* =-5"=—125

a,=(-1)"'5" =5'=625

a’=(-1)"'5"" =5° =15625
Therefore, the required terms are 25, =125, 625, -3125, and 15625.

Question 6:

Write the first five terms of the sequences whose nt" termis a,=n -8

Answer 6:
Substituting n = 1, 2, 3, 4, 5, we obtain
_P+5 6 _3
'Y 4 4 2
POl ..
- 4 4 2
3245 14 21
a,=3- =3.—=
=385 1 %,

a, =4 =21
: D
5745 30 75 &(0 QK
85 =5- 4 =5.T=? &Q
Therefore, the required terms are % g, % 21, and ? % %’
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Question 7:
Find the 17t term in the following sequence whose nt" term is
a,=4n-3a,,a,,

Answer 7:

Substituting n = 17, we obtain
2, =4(17)-3=68-3=65
Substituting n = 24, we obtain
2, =4(24)-3=96-3=93

Question 8: i
Find the 7t term in the following sequence whose nt" term is a, :;_-;a,
wle
Answer 8:
Substituting n = 7, we obtain
B )
2T 128
Question 9:
Find the 9t term in the following sequence whose nth term is
a, :(_])"_I n3;a"
Answer 9: C)Q)
Substituting n = 9, we obtain 6> \\
a,=(-1)""(9) =(9)' =729 S oL
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Question 10:

Find the 20t" term in the following sequence whose nt" term is

-2
.l
n+3

Answer 10:
Substituting n = 20, we obtain

£20(20-2) 20(18) 360

g i
W 9043 23 03

Question 11:

Write the first five terms of the following sequence and obtain the
corresponding series:

a =3,a,=3a,,+2foralln>1

Answer 11:

a=3a =3a_+2foralln>1]

=a,=3a,+2=3(3)+2=11

a;=3a,+2=3(11)+2=35

a, =3a,+2=3(35)+2=107

a,=3a,+2=3(107)+2=323

Hence, the first five terms of the sequence are 3, 11, 35, 107, and 323.
The corresponding series is 3 + 11 + 35 + 107 + 323 + ...
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Question 12:

Write the first five terms of the following sequence and obtain the
corresponding series:

a,
a=-la=-—"n 22
n

Answer 12:

& ==loa = D ST,
I’
: —1
—_—a, ==
- 2
a., —1
a;, =—=—
3 6
a. —1
a.‘ T e T e—
4 24
P W
i 4 120
Hence, the first five terms of the sequence are -1, _—]. = ;], and o

2’ 6° 24 120°

. L -1 -1 -1 -1
The corresponding series is (—l)+(7)+(zJ+(a]+(lz—o)+...

Question 13:

Write the first five terms of the following sequence and obtain the
corresponding series:

— gy 2
a=a,=2a=a_,~l,n>2

Answer 13:
&

a=a,=2a=a_-,n>2 \'fb %_
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a=a;—-1=1-1=0
a=a,-1=0-1=-1

Hence, the first five terms of the sequence are 2, 2, 1, 0, and -1.
The corresponding seriesis2 +2+ 1+ 0+ (-1) + ...

Question 14:

The Fibonacci sequence is defined by 1=a,=a,anda, =a _, +a_ _,.n>2
Find —l,forn=1,234,5

Answer 14:

l=a, =a,

an =an l+an 2'" > 2

say;=a,+a, =l+1=2

a,=a,+a,=2+1=3
a,=a,+a,=3+2=35
a,=a,+a,=5+3=8

gk a1

S Forn=1,

For n = 2,

3 _a, 3
For n =3, =S @

all a3 ) @
For n = 4, a';l-”:%:% (&% QK
an-ni-l %\' %‘
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Mathematics

(Chapter — 9) (Sequences and Series)
(Class - XI)

Exercise 9.2

Question 1:
Find the sum of odd integers from 1 to 2001.

Answer 1:
The odd integers from 1 to 2001 are 1, 3, 5...1999, 2001.
This sequence forms an A.P.
Here, first term, a = 1
Common difference, d = 2
Here, a+(n—1)d = 2001
= 1+(n—-1)(2)=2001
= 2n—-2=2000
= n=1001

S, =2[2a+(n-1)d]

1001
S—[2x1+(1001-1)x2 |

-

1001

e

1001
2

n

[2+1000x2]

x 2002

=1001x1001
=1002001
Thus, the sum of odd numbers from 1 to 2001 is 1002001.

Question 2:

Find the sum of all natural numbers lying between 100 and 1000, whieb&re

multiples of 5.

6\
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Answer 2:
The natural numbers lying between 100 and 1000, which are multiples of 5,
are 105, 110, ... 995.

Here. a =105 andd =5
a+(n—1)d =995

=105+ (n7—1)5 =995

= (n—1)5=995-105 =890
—=n—1=178

=>n=179

- S, =?[2(|os)+(179—1)(5)]

179

> [2(105)+(178)(5) ]
=179[105+(89)5 |
=(179)(105 + 445)
=(179)(550)
=98450
Thus, the sum of all natural numbers lying between 100 and 1000, which

are multiples of 5, is 98450.

Question 3:
In an A.P, the first term is 2 and the sum of the first five terms is one-fourth

of the next five terms. Show that 20t term is -112. 6,b c’}\g)

nswer 3: ©
:;\irst term3.= 2 %\(& Q

Let d be the common difference of the A.P. OQ
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Therefore, the A.P.is2,2+d, 2+ 2d, 2 + 3d ...
Sum of first five terms = 10 + 10d
Sum of next five terms = 10 + 35d

According to the given condition,
10+10d = %(IO+35d)

= 40+ 40d =10+ 35d
= 30=-5d
—=>d=—-6

Ly =a+(20-1)d =2+(19)(-6)=2-114=-112

Thus, the 20% term of the A.P. is -112.

Question 4:
How many terms of the A.P. —6,—%,—5.... are needed to give the sum -25?

Answer 4:

Let the sum of n terms of the given A.P. be -25.
It is known that,

o= g[2a+(n—l)d]

Where n = number of terms, a = first term, and d = common difference

- —~

Therefore, we obtain
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S

o)

n 1

:—50=n|:—12+———-:|

l‘\)lu

2 2

— —_

0
— 50 = '1[—"—5+ﬁ}
2 5

= —100=n(-25+n)
=n’—25n+100=0
=n’—5n—-20n+100=0
= n(n-5)-20(n-5)=0
=n=20o0rS5

Question 5:

In an A.P., if pth term is 1/q and g% term is 1/p, prove that the sum of first
pg terms is Y2 (pg +1), where p # g.

Answer 5:
It is known that the general term of an A.P.isa,=a + (n -

1)d .. According to the given information,

term =4, =a+(p——l)d=l (1)

q

,lh

I

2

q" term=q, =a+(q-l)d=l susk

)

P 6
Subtracting (2) from (1), we obtain @
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| |
(p—1)d—(g—1)d =+~
q9 P
:>(p—1—q+l)d—£—(!<
' rq
PP
2([)—q)d—[ c
Pq
= d=—
rq
Putting the value of d in (1), we obtain
cH—(p—l)L=l
rPqd q
| | 1 1
> a=s———+—=——"

9 9 prq4 Pq
.-.Sm=%"[2a+(pq-1)d]

pq| 2 1 ]
2 [m ( )pq

1
—1+5(P‘]—‘)
1 %3 11 +l
_qu —5—5174 5

=2 (pa+1)

Thus, the sum of first pg terms of the A.P. is %(pq+l) . b

2
Question 6: K(O
If the sum of a certain number of terms of the A.P. 25, 22, 19, ... is 11€(b Q
Find the last term %

0@
&\’b
@

1‘(\\

.
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Answer 6:

Let the sum of n terms of the given A.P. be 116.
n

Wi —[2(1+(n—l)d]
2]

—

Here,a =25andd=22-25=-3

28, =g[2x25+(n—l)(—3)]

=116="[50-3n+3]
2

= 232 =n(53-3n)=53n-3n"
=3n’ —53n+232=0
= 3n" —24n—-29n+232=0
=3n(n-8)-29(n-8)=0
= (n—8)(3n—29)=0
= n=8orn= 22
However, 3
n cannot be equal to 2% Therefore, n = 8
~as = Lastterm = a +3(n -1)d=25+(8-1) (- 3)
=25+ (7)(-3)=25-21
=4
Thus, the last term of the A.P. is 4.

Question 7: &% Q
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Answer 7:

It is given that the k™ term of the A.P. is 5k + 1.

khterm =ak=a + (k- 1)d
Jea+(k-1d=5k+1a+kd-d=5+1

.« Comparing the coefficient of kK, we obtaind=5a-d=1

=a-5=1
=>a=6
S, =-§-:Ea+[n—1}d]
H_
=5_3[ﬁ]+(”—1]{5}]
=212+ 52 -5]
2-
=250+ 7)
Question 8:

If the sum of n terms of an A.P. is (pn + gn?), where p and g are constants,

find the common difference.

Answer 8:

It is known that: S, =2[23 +(n-1)d] 66 ,‘\\FJ
S O

According to the given condition, K% Q
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%[23 +{n—l}d:|= pn+an’
::r%[za +na.:l—ll:1]=]:u1+qr|1

::-n.a+r|zld n d_ n+qn’
3 7 P q

Comparing the coefficients of n? on both sides, we obtain

d_
> Y
~d=2¢q

Thus, the common difference of the A.P. is 2qg.

Question 9:
The sums of n terms of two arithmetic progressions are in the ratio 5n + 4:
9n + 6. Find the ratio of their 18t terms.

Answer 9:
Let a1, a2, and d1, d2 be the first terms and the common difference of the first
and second arithmetic progression respectively.

According to the given condition,
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Sum of'n terms of first A.P.  Sn+4
Sum of 7 terms of second A.P. 9+ 6

n [-u, +(n—])d :l _5n+4
[_u,+(n—l)d ] 9n+6

2u +(n-1)d, 5n+4

= — = ..(1)

2a,+(n—-1)d, 9n+6

Substituting n = 35 in (1), we obtain
2a,+34d, _5(35)+4
2a,+34d, 9(35)+6
a,+17d, 179
p =
a,+17d, 321

18" term of first A.P. _ a, +17d,
18" term of second A.P &, +17d,

From (2) and (3), we obtain
18" term of first A.P. 179

18" term of second A.P. 321
Thus, the ratio of 18t term of both the A.P.s is 179: 321.

Question 10:
If the sum of first p terms of an A.P. is equal to the sum of the first g terms,

then find the sum of the first (p + g) terms.

<
Answer 10: &% Q

Let a and d be the first term and the common difference o@

respectively.
N &

@
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Here,

S: =§[2a+(p—l)d:|

S, = %[2(1+(q—l)d]

According to the given condition,
§[2a+(p—l)d:|=%[2a+(q—l)d]

= p[2(1+(p—l)d:|=q[20+(q—l)d]
=2ap+ pd(p-1)=2aq+qd(q-1)
D2a(p-q)+d:p(p—l)-q(q—l):|=0
::>2(1(p—q)+d—p3——p—q:+q:|=0
=2a(p-q)+d[(p-9)(p+9)-(p-g)]|=0

:Za(p—q)+d:(p-—q)(p+q—l):|=()
=2a+d(p+q-1)=0

—2a
:d_p+q—l (1)
.S, = -p;q-[20+(p+q—l)-d:|
s -P*a B ~2a

=D g T 2a+(p+q-1) ] [From (1)] 6
_PHap, %)
- SR

Thus, the sum of the first (p + g) terms of the A.P. is 0. Q% Q

O ,bﬂ
NI~

Remove Watermark g

mm Wondershare

PDFelement



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

mm Wondershare

Remove Watermark g PDFelement

Question 11:
Sum of the first p, g and r terms of an A.P. are a, b and c, respectively.

Prove that g(q—r)+£(r—p)+£(p—q)=0
P q r

Answer 11:

Let a1 and d be the first term and the common difference of the A.P.
respectively.

According to the given information,

S, = 5[20, +(p—l)d:|=a
2a

=2a,+(p-1)d =— -(1Q
P

S, = -‘2’-[2a, +(g-1)d]=b
2b

=2a,+(q—1)d =— w(2)
q

S, = 12'-[2(:, +(r=1)d]=c

2c
= 2a,+(r—-1)d =— :(3)
r
| | <
Subtracting (2) from (1), we obtain b\b ,‘\\F)
Qo
O
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2a 2b
(p-1)d-(q-1)d =—-—
( P 9

=2
:d(p—l—q+l)=M
Pq

2aq-2bp

=d(p-q)=

_ = Hag-bp)
rg(p-q)

{4)

Subtracting (3) from (2), we obtain

2b 2¢
~1)d-(r-1)d=—-=
(g=1)d~(r-1)d ===
7
:>d(q-|-r+l)=-2—b—-'£
{q I
by =2
:>d(q—r)='b’ s
qr
2(br-ge
- (’ ‘1‘) (5)
gr(q-r)
Equating both the values of d obtained in (4) and (5), we obtain
\b N O®
A &
@0
\% QK
c}@ ©

N

N

STHTE WY
o
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aqg-bp ) bif—qc'

pa(p-4) ¢rlg-r)

= qr(q-r)(ag-bq)= pg(p-q)(br-gc)
= r(ag-bp)(q-r)=p(br-gc)(p-9)

= (agr-bpr)(q-r)=(bpr- pge)(p-¢)
Dividing both sides by pgr, we obtain

(a b](q_r)z(é_%]([,-q)

P 4

q
a b ¢
=>—(q-r)-—(g-r+p-q)+—(p-¢)=0
p q r
a b ¢
=D —(g=r)+—(r=p)+=(p-q)=0
(g-r)o(e-p (g

Thus, the given result is proved.

Question 12:
The ratio of the sums of m and n terms of an A.P. is m2: n2. Show that the

ratio of mt" and nth term is (2m - 1): (2n - 1).

Answer 12: b . C)
N

Let @ and b be the first term and the common difference of the A.P. b» C’)\.\

respectively. According to the given condition, %Q be

mm Wondershare
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Sumof mterms m°

Y

Sum of n terms n

';[Za +(m—l)d:| o

g[Za+(11—l)d] .
2a+(m=1)d m
E-((n__])%:; (1)
Puttingm =2m-1and n = 2n-1in (1), we obtain
2a+(2m-2)d 2m-1
2a+(2n-2)d  2n-1
a+(m-1)d 2m-|
a+(n-1)d "ol

=

A2)

m" term of AP. _a+(m-1)d
n" term of A.P. a+(n-1)d

From (2) and (3), we obtain
m" term of AP 2m-|

n"term of AP 2n-I
Thus, the given result is proved.

Question 13:
If the sum of n terms of an A.P. is 2n? + 5n and its m®% term is 164, find the

\ " C)
value of m. @b»b C’)\,\

9
Answer 13: &
PN

Let a and b be the first term and the common difference of %-
respectively. Q
’\0Q >
N, @

N
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d

an=a+ (m-1)d =164 ... (1)
Sum of n terms: S, ='—;|:Za+(n—l)a':|

Here,

g[Z(Hna'—d]:_"m2 +5n

| =

o A
= na+n —=3n"+5n

[

Comparing the coefficient of n? on both sides, we obtain
d

—=3

2

=>d=6
Comparing the coefficient of n on both sides, we obtain
d

a-—=>5
2

=>a-3=5

= a=8

Therefore, from (1), we obtain
8+ (m-1)6 =164
>(m-1)6 =164 -8 =156
>m-1=26

=>m =27

Thus, the value of mis 27.
Question 14:

Insert five numbers between 8 and 26 such that the resulting sequence is an
A.P.

Answer 14: \(b %-

Let A1, A2, A3, A4, and As be five numbers between 8 and 26 %

such that 8, A1, A2, Az, A4, As, 26 is an A.P. . OQ (b
W ¢

S @ P

~

-
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Here,a =8,b=26,n=7

Therefore, 26 =8 + (7 -1)d
=6d=26-8=18

>d=3

Ai=a+d=8+3=11
Ab=a+2d=8+2x3=8+6=14
Az3=a+3d=8+3x3=8+9=17
As=a+4d=8+4x3=8+12=20
As=a+5d=8+5x3=8+15=23

Thus, the required five numbers between 8 and 26 are 11, 14, 17, 20,
and 23.

Question 15:

al’ + bll

alrl +blrl

If is the A.M. between a and b, then find the value of n.

Answer 15:

A.M. of aand b ath

According to the given condition,
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H  PDFelement



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

Remove Watermark

a+b a"+b"
2 a'+b"!
=>(a+b)(a” '+ b" ')= 2((:" +b")

=a" +ab" 1 + ba” ' +b" =2a" +2b"
=ab"' +a" 'b=da" +b"

= ab™ —b" =a"—a""'b
=b""(a-b)=a""'(a-b)

:>b” I =(_ln~l
(2

- — =]= —
b b

=n-1=0

=>n=1

Question 16:

Between 1 and 31, m numbers have been inserted in such a way that the

resulting sequence is an A.P. and the ratio of 7" and (m - 1) numbers is 5:9.

Find the value of m.

Answer 16:

Let A1, A2, ... A be m numbers such that 1, A1, A2, ... Am, 31 is an A.P.

Here,a=1,b=31,n=m+ 2
231=1+(mMm+2-1)(d)
>30=(m+1)d

. 30
m+1
Ai=a+d
A =a+ 2d
As=a+ 3d ..
~A7=a+7d

(1)
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An-i=a+(m-1)d
According to the given condition,

a+T7d
u+(m - l)d

‘*7((,,.,33.)J

3
9

= - From (1)
I+(m—l)( il J 2 [ i
m+1
m+1+7(30) 5
m+|+30(m—l)_6
m+1+210 5
m+14+30m—30 9

m+211 5
= ———
31m—-29 9
=>Om + 1899 = 155m — 145
=> 155m —9m = 1899 + 145
=> 1 46m = 2044
== m=14
Thus, the value of m is 14.

Question 17:
A man starts repaying a loan as first installment of Rs. 100. If he increases

the installment by Rs 5 every month, what amount he will pay in the 30%

installment?

Answer 17: b\

The first installment of the loan is Rs 100.

The second installment of the loan is Rs 105 and so on. &% Q
The amount that the man repays every month forms an A.P. 6{0

The A.P. is 100, 105, 110 ... Q
O
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First term, a = 100
Common difference, d = 5
Ao =a + (30 -1)d

= 100 + (29) (5)

= 100 + 145

= 245

Thus, the amount to be paid in the 30t installment is Rs 245.

Question 18:

The difference between any two consecutive interior angles of a polygon is

5°. If the smallest angle is 120°, find the number of the sides of the polygon.

Answer 18:

The angles of the polygon will form an A.P. with common difference d as 5°

and first term a as 120°.

It is known that the sum of all angles of a polygon with n sides is 180°(n - 2).

- S, =180°(n—2)

:—'5[2¢1+(,z—|)¢1]= 180°(n2—2)

:%[240°+(n—|)5°] =180(n—2)

= n[240+(n—1)5]=360(n—2)
= 2401+ 5n° —5n=360n—720
= S5n° + 2357 —360n+720=0
= 57" —1257+720=0

=" —25n+144=0

—= " —161n—917+144 =0

= n(n—-16)—9(n—-16)=0

= (n—9)(n—-16)=0

— n=9o0rlo6
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Mathematics

(Chapter — 9) (Sequences and Series)
(Class - XI)

Exercise 9.3

Question 1: S 8
Find the 20t and nt" terms of the G.P. '3’
Answer 1:
_ 5585
The given G.P.is —.,—.,—,.
2 48

5
Here, a = First term = E

3
r = Common ratio = i=l
3 2
2
. mm_._s[lJ‘“_ 5
. Tl = [ T
222 (2)(2) (2)

Question 2:

Find the 12t term of a G.P. whose 8% term is 192 and the common ratio is 2.
Answer 2:

Common ratio, r = 2

Let a be the first term of the G.P.
~ag=ar8l=ar’=>ar =192 a(2)’ = 192 a(2)” = (2)° (3) b . C)Q)
\ \

N N
_(2yx3 3 @b @Q
ICE & Qs
) 3 I 10 \Q %'
.‘.a.:=ar'"=(‘5J(2) =(3)(2) =3072 %
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Question 3:

The 5%, 8t and 11% terms of a G.P. are p, g and s, respectively. Show
that g2 = ps.

Answer 3:

Let a be the first term and r be the common ratio of the G.P. According to

the given condition,

as=arrlt=art=p...... (1)
as=arfl=ar =q...... . (2)
an=artl=arM0 =5 ... (3)

Dividing equation (2) by (1), we obtain

ar’

o5 S
ar p

w(4)

4.3
P o9q
=q’ = ps <

Thus, the given result is proved.
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Question 4:

The 4% term of a G.P. is square of its second term, and the first term is -3.

Determine its 7t" term.

Answer 4:

Let a be the first term and r be the common ratio of the G.P.

wa=-3

It is known that, a, = ar™!
~as=ar’=(-3)r’

az=art=(3)r

According to the given condition,

(=3) 3 = [(-3) 1]
>-3r=9r”=>r=-3a,=ar’'=a

ré = (-3) (-3)¢ = - (3)’ = -2187

Thus, the seventh term of the G.P. is -2187.

Question 5:
Which term of the following sequences:

(a) 2,2v2,4,..is128?  (b) V/3,3,3V3, ...is 729?
11 1

(c)=, < ?

—,...lS /
3’9’27’ 19683

Answer 5:

(a) The given sequence is 2,2v2,4,...is 128?

Here, a = 2 and r = (2vV2)/2 =2
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Let the nth term of the given sequence be 128.

s n—1
a, =ar

=(2)(v2)" =128
=(2)(2)7 =(2)

n-1 -
=(2)7"=(2)
2 l+l='7

2
n—1 -6
)

—n=13

Thus, the 13% term of the given sequence is 128.

(b) The given sequence is \/3, 3, 3J3_

a= 3andr=i=\/§

V3

Let the nth term of the given sequence be 729.
w—1

a,=ar

sar®™' =729

= (V3)(F) " =720

=(3):(3)% =(3)°
=(3):"7 =(3)°

.-_l.+n__l=6
2 2
1+272—1 -6

2
=7t ="F2

Thus, the 12% term of the given sequence is 729.
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111
y L .

(c) The given sequence is

e A
)

a—-l andr-l-k
Here, 3 9°

1
Let the nth term of the given sequence be 19683

P n-1
a . =dar

1
narl=———

" 19683

”(%J[%]"'jﬁ
=(3) =(3)

—=>n=9 ,
Thus, the 9t term of the given sequence is ————
19683
Question 6:
For what values of x, the numbers %,x,—% are in G.P?
Answer 6:
The given numbers are ‘_2' X, =
\b N C)
7 N
Common ratio = = =T b’ 6}'
2 2 G >
7 S o\
&
Also, common ratio = 2.1 X\ cb-
X 2x 6
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2 2x
e
.
=x=
= x=21
Thus, for x = £ 1, the given numbers will be in G.P.

Question 7:

Find the sum to 20 terms in the geometric progression 0.15, 0.015,

0.0015 ...
Answer 7:
The given G.P. is 0.15, 0.015, 0.00015 ...
0.015
Here, a = 0.15and r= 015 =0.1
- a(l—r“)
n l—l'
. 13[1 (0.1)"]
-0.1
0.
=W[ ~(0.”]
.18 20 @
=5L1- (D) ] Sb \\Q
| -u I Q
g[ ~(0.1) ] <
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Question 8:
Find the sum to n terms in the geometric progression v7,v21,37, ...
Answer 8:

The given G.P. is V7,v21,3V7, ...
Here, a= +V7 and r = g= V3

_a(l—r")
"o 1—r

\/7[1—(x/§)"]
T 1-v3

= S,

- S_ﬁ[l—(\/g)n]xlm/?
T 1-43 1+43

Vi3 +1)[1- (V3)']
Sn = 1-3

I+ 1) [1- ()]

= S,

2
Question 9:
Find the sum to n terms in the geometric progression Q)
1, —a, a%, —a’.. (if a=—1) 6b \\'Q
Answer 9: @ } Q

The given G.P. is 1,-a, &%, =a%, . % Q

Here, firstterm = a1 =1

Common ratio=r=-a %
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Question 10:
Find the sum to n terms in the geometric progression

Answer 10:

3 5 7
The given G.P. is * -% »X -

Here, a = x3 and r = x?2

Cafi=r) X[ wp-x)

2 7

S

! |—r | -x* L=x°
Question 11:
Evaluate i(2+3‘)
k=1
Answer 11:
11 11 11 11 11
Y (2+3)=)(2)+) 3" =2(11)+ } 3" =22+ ) 3* (1)
k= k=1 k=l k=l k=1

|
1S | 2
23 =3+

23
k=l

The terms of this sequence 3, 32, 33 ... forms a G.P.

I
et 3

L

X2, %’ .. (ifxl)

Remove Watermark g
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S = r—1

o~ 33)"-1]
" 3-1

=S, =%(3"-1)

11 3
w3 ==(3"-1)
s 2
Substituting this value in equation (1), we obtain

:Z-l'(2+3k)=22+%(3u_])

Question 12:
The sum of first three terms of a G.P. is

10
the common ratio and the terms.

Answer 12:

Let 9—, a, ar be the first three terms of the G.P.
»
(1)
-(2)

a 3
—+a+ar=—
r |

(£ a)(ar)=1

»
From (2), we

obtaina3 =1

= a = 1 (Considering real roots only)
Substituting @ = 1 in equation (1), we obtain

and their product is 1. Find

H  PDFelement
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1 39
—+1lt+r=—

r 10

39

—7

10

= 10+10r+10r> =39 =0
= 107> =29 +10=0

= 10r> —=25r—4r+10=0
= 5r(2r-5)-2(2r-5)=0
:>(5r—2)(2r—5)=0

2
= r=— or
5

= 1l+r+r’=

2

Thus, the three terms of G.P. are % 1,and %

Question 13:

How many terms of G.P. 3, 32, 33 ... are needed to give the sum 120?
Answer 13:

The given G.P. is 3, 32, 33 ...

Let n terms of this G.P. be required to obtain the sum as 120.

:>3"j = @
:3"=18l80 (&% Q
b S

_a(l—-1")
"o 1—r
Here,a =3 andr =3
i )
3-1
3(37—1)
=120 = ——=
2 <
5 120x2 _ 5, | 6’0 C,;\\Q
O
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Thus, four terms of the given G.P. are required to obtain the sum as 120.

Question 14:

The sum of first three terms of a G.P. is 16 and the sum of the next three
terms is 128.

Determine the first term, the common ratio and the sum to n terms of the
G.P.

Answer 14:

Let the G.P. be a, ar, ar?, ar3, ... According to the given condition,
a+ar+ar’=16and ar*+ ar* + ar> = 128
>a(l+r+r?) =16 ............. (1)
ar’(1+r+r?) =128 ...ccco... . (2)
Dividing equation (2) by (1), we obtain

ur""(l+r+r3) 128

a(l+r+r3) 16

Substituting r = 2 in (1), we
obtaina (1 +2 +4) =16
=>a(7) =16

:>a=E \b ’\C)
7 &

a(r"-l)
‘o r-1 \f&% Q
16(2"-1) 16(2,,_|) @)

=S5, =—
7 2-1 7
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Question 15:

Given a G.P. with a = 729 and 7t" term 64, determine S5.
Answer 15:

a =729 a; = 64

Let r be the common ratio of the G.P. It is known that,
an=ari

ar = ar’-1 = (729)ré

= 64 = 729 r

(u_ﬂ

=2r =
729

2
==
3

Also, it is known that,
a(l—-r")
1—r

=3x729|:1—(—§]7

@]
G [—-—*(3)7

-

=2187-128

= 2059

S, =

~S, =

W
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Question 16:

Find a G.P. for which sum of the first two terms is -4 and the fifth term is
4 times the third term.

Answer 16:

Let a be the first term and r be the common ratio of the G.P.

According to the given conditions,

B _a(l—rz)
sy=4= ()
as =4 X as

sart=4ar*=>r’>=4

“r==x2

From (1), we obtain
(1[]—(2)2]

_4_.

=——=forr=2
1-2

O I (1(1—14)

= -4=a(3)

- |
=2 a4=—
3
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-1

N

)

-4 -8
Thus, the required G.P. is 33" s OF

Question 17:

4, -8, 16, -32 ...

w ‘

If the 4th, 10t and 16t terms of a G.P. are x, y and z, respectively. Prove
that x, y, z are in G.P.
Answer 17:

Let a be the first term and r be the common ratio of the G.P.

According to the given condition,

A4 =8I =X oo (1)
a10=arP =y e (2)
816 =aI® =Z oo (3)

Dividing (2) by (1), we obtain
y ar
X oa’  x

Dividing (3) by (2), we obtain

.v sl

= — =9

15
zZ ar

b

¢

y ar

.: =7
¥

y_:z

Xy

Thus, x, y, z are in G. P.

Question 18:
Find the sum to n terms of the sequence, 8, 88, 888, 8888...

Answer 18:
The given sequence is 8, 88, 888, 8888...

mm Wondershare
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This sequence is not a G.P. However, it can be changed to G.P. by writing

the terms as S, = 8 + 88 + 888 + 8888 + .............. . to n terms
= §[9+99+999+9999+ ........... to nterms |
8

=.,.~:(IO—I)+(IOZ ~1)+(10° = 1) (10" = 1) +....... lonterms]

=§F(I0+103+ ...... nlerms)—(l+l+l+....ntenns)]
_8(10(10"—1)
"ol 10-1 "

[10(107 -1

80, .. 8
—Q(IO —l)—aﬂ

Question 19:
Find the sum of the products of the corresponding terms of the sequences
2,4,8,16, 32 and 128, 32, 8, 2, 2.

Answer 19:

Required sum = 2 x128+4 x32+8x8+16x 2432 x

1D | -

=64[4+2+l+1+%j| ~b ’\C)
"3 3

I 1 .
Here, 4, 2, 1, 25 is a G.P. &%

First term, a = 4 %\{b %’
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Common ratio, r =

2
a(l—r")
It is known that, S. =
l1-r
LY 1
+ l—[—) Al ye—
[ 3} [ 2 32-1)_31
S = =8 =—
] 1 2 ) 4
2 2

Question 20:

Show that the products of the corresponding terms of the sequences form
a,ar.art...ar"™ and A, AR, 4R, ar"' aG.P, and find the common ratio.

Answer 20:

It has to be proved that the sequence: aA, arAR, arAR?, ...ar""1AR"1,
forms a G.P.

Second term _ arAR _
First term ad
Third term _ ar" AR’ — R

Secondterm  arAR

R

Thus, the above sequence forms a G.P. and the common ratio is rR. &%
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Question 21:

Find four numbers forming a geometric progression in which third term is
greater than the first term by 9, and the second term is greater than the
4th by 18.

Answer 21:

Let a be the first term and r be the common ratio of the G.P.

ai = a, a = ar, as=ar?, as=ar

By the given condition,

az=ai1+9=arr=a+9 ... (1)

a=as+ 18=>ar=ar* + 18 ........ (2)

From (1) and (2), we obtain

a(r’-1)=9 e . (3)
ar(1-r2) =18 .o (4)
Dividing (4) by (3), we obtain
ar(l—r“’) 18

a(rz—l) 9

= —r=2

=r=-2
Substituting the value of rin (1), we obtain
4da=a+9
=>3a=9
~a=3

Thus, the first four numbers of the G.P. are 3, 3(- 2), 3(-2)3, and 3(=2)?
i.e., 3,-6, 12, and -24.
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Question 22:

If pth, gt and rth terms of a G.P. are a, b and c, respectively. Prove that
a9 -"br-PcP-a=1,

Answer 22:

Let A be the first term and R be the common ratio of the G.P.
According to the given information,

ARP1 = g
ARI 1 =p
ARl = ¢

a9-r.pr-P.cp-a
= A9 x R(P-1) (-1 x Ar-P x R(@-1)(rp) x AP-9 x R(r-1)(p-q)

= AG-r+r-p+p-qx R(pr-pr-q+r)+(rq-r+p-pq)+(pr-p-qr+q)

= A0 x RO
=1
Thus, the given result is proved.

Question 23:
If the first and the n® term of a G.P. are a ad b, respectively, and if P is the

product of n terms, prove that P> = (ab)".
Answer 23:
The first term of the G.P is @ and the last term is b.

Therefore, the G.P. is a, ar, ar?, ar® ... ar’~t, where r is the common ratio.

P = Product of n terms
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= (a) (ar) (ar?) ... (ar1)
=(axax..a)(rxrx.ri)
=anrl+2+..(n-1)..(2)

Here, 1, 2, ...(n — 1) is an A.P.

o..1+2+ .......... +(n_1)
n-1 I n(n-1)
=——[2+(n-1-1)x1]=—[2+n-2]= S
n{n-l)
P=a"t 2
p =g rn{n 1)
=[a:r(" |)]
i [ax aru—l]n

[Using (I)]

Thus, the given result is proved.

Question 24:

Show that the ratio of the sum of first n terms of a G.P. to the sum of terms
from (n + 1)™ to (2n)t" term is 1/r". .

Answer 24:
Let a be the first term and r be the common ratio of the G.P.
a(l-r“)

(1-r)

Since there are n terms from (n +1)™ to (2n)% term,

Sum of first n terms

Sum of terms from(n + 1)% to (2n)% term

— an+1(1 - Tn)
1—r *

T 1<

Sn

mm Wondershare
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< I_‘ g —
Thus, required ratio = q( S )x (1=x) -1
(1-r) ar"(l—r") r'

Thus, the ratio of the sum of first n terms of a G.P. to the sum of terms
from (n + 1)% to (2n)t"term is 1/r™

Question 25:
If a, b, c and d are in G.P. show that:

(@% + b% + c2) (b? + c? + d?) = (ab + bc - cd)?

Answer 25:

a, b, c, d are in G.P. Therefore,

bc=ad ... (1)
b? = ac .. (2)
c2=bd .. (3)

It has to be proved that,

(@2 + b% + c?) (b%2 + c? + d?) = (ab + bc - cd)?

R.H.S.

= (ab + bc + cd)?

= (ab + ad + cd)? [Using (1)]

=[ab + d (a + ©)]?

= a2b? + 2abd (a + ¢) + d? (a + ¢)?

= ab? +2a’bd + 2acbd + d?(a? + 2ac + c?)

= a2b? + 2a%c? + 2b%c? + d?a? + 2d?b? + d?c? [Using (1) and (2)]
= a’b? + a>c? + a%c? + b?c? + b?c? + d?a?* + d?*b? + d*b? + d?*c?

= a%b? + a?c? + a?d? + b? x b? + b?c?> + b?d? + c?b? + c? x c? + c?d?

[Using (2) and (3) and rearranging terms]
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=a*(b> + ¢ + d?) + b2 (b? + ¢ + d?) + c? (b*+ ¢ + &?)
= (a? + b + c?) (b? + ¢ + d?) = L.H.S.

~ L.H.S. = R.H.S.
~ (a2 + b%2+ c2) (b2 + c2 + d?) = (ab + bc - cd)?

Question 26:

Insert two numbers between 3 and 81 so that the resulting sequence is
G.P.

Answer 26:

Let Gi1 and G2 be two numbers between 3 and 81 such that the series, 3,
Gi, G2, 81, forms a G.P.

Let a be the first term and r be the common ratio of the G.P.

=81 = (3) (r)3

=3 =27

~ r = 3 (Taking real roots only)

Forr =3,

Gi=ar=(3)(3)=9

G2 = ar? = (3) (3)2 = 27

Thus, the required two numbers are 9 and 27.

Question 27:

Find the value of n so that “n;::zzﬂ may be the geometric mean between a
and b.
Answer 27:

M. of @ and b is Vab
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n+l n+l
By the given condition: -"—-—f—[{’-— =ab
a +0

Squaring both sides, we obtain

(au+l + bn+l )2
B I = (Ib

(a" +b" )
=@ 2N L = (ab)(az" +2a"b" + b )
- a!vu'_’ +2au‘lbml +b2;|02 o~ u!:ulb_*_zumlbml +ub2ﬁul
s ulw! +b2n+2 — alu+lb+ub1nol

2n+2 2 2 2n+2
= a° 1+ —-a u+lb =(lb n+l —b n+

= g™ (a-b)= p (a—b)

((l ]Zm-l ((l ]u
== =l=|—

b b

=2n+l=0

=
>n=—
2

Question 28:
The sum of two numbers is 6 times their geometric mean, show that
numbers are in the ratio (3+2J§):(3—2\/§)

Answer 28: . Q)
Let the two numbers be a and b. 69 C’)\\O
G.M. = ab %6 KQ
According to the given condition, (& Q
a+b=6ab (1) 6\. Cb-

= (a+b) =36(ab) Q &Q
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Also,

(a—b) =(a+b) —4ab=36ab—4ab=32ab
= a-b=+32Vab

=42V ab -(2)

Adding (1) and (2), we obtain

2a =(6+4v2)Jab
=><z=(3+2J§)Ja_b

Substituting the value of a in (1), we obtain
b=6vab —(3+2v2)Vab
= b=(3-2v2)Vab
a_(3+2‘/§)‘[‘;—5_3+2\/§
Z_(3-2J5)J517_3—2J5

Thus, the required ratio is (3+2\/§)Z(3—2\/§)

Question 29:

If Aand G be A.M. and G.M., respectively between two positive numbers,
prove that the numbers are A+ J(A+G)(A-G)

Answer 29:
It is given that A and G are A.M. and G.M. between two positive humbers.
Let these two positive humbers be a and b.

- ANpeatb (1) %\{0
GM = G =+/ab -(2) Q &Q
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From (1) and (2), we obtain

Substituting the value of @ and b from (3) and (4) in the identity
(@ - b)?2 =(a+ b)? - 4ab,

we obtain

(@ - b)? = 4A2 - 4G? = 4 (A2-G?)

(@a-b)=4A+G)(A-G)

(a-b)=2/(A+G)(A-G) -(5)

From (3) and (5), we obtain

2a=2A+2J(A+G)(A—-G)

:>a=A+\/(A+G)(A—G)
Substituting the value of a in (3), we obtain
b=2A-A-/(A+G)(A-G)=A-[(A+G)(A-G)

Thus, the two numbers are Ai\/(A"G)(A-G)

Question 30: 6

The number of bacteria in a certain culture doubles every hour. If there Q)
were 30 bacteria present in the culture originally, how many bacteria w{@ Q
be present at the end of 2" hour, 4t hour and nt" hour? 6&{0 %_

0\\\0 @@
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Answer 30:

It is given that the number of bacteria doubles every hour. Therefore, the
number of bacteria after every hour will form a G.P.

Here,a = 30andr =2 .az = ar? = (30) (2)2 =120

Therefore, the number of bacteria at the end of 2" hour will be 120.

as = ar* = (30) (2)* = 480

The number of bacteria at the end of 4t" hour will be 480.

an+1=ar" = (30) 2"

Thus, number of bacteria at the end of nt hour will be 30(2)".
Question 31:
What will Rs 500 amounts to in 10 years after its deposit in a bank which

pays annual interest rate of 10% compounded annually?

Answer 31:
The amount deposited in the bank is Rs 500.

At the end of first year, amount = RsSOO(H%] = Rs 500 (1.1)
At the end of 2" year, amount = Rs 500 (1.1) (1.1)
At the end of 3™ year, amount = Rs 500 (1.1) (1.1) (1.1) and so on

~Amount at the end of 10 years = Rs 500 (1.1) (1.1) ... (10 times)
= Rs 500(1.1)10



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

=)

Question 32:

If A.M. and G.M. of roots of a quadratic equation are 8 and 5, respectively,

then obtain the quadratic equation.

Answer 32:
Let the root of the quadratic equation be a and b.

According to the given condition,

A.M.=a:b=8:>a+b=16 (1)
G.M.=ab =5=> ab=25 (2)

The quadratic equation is given by,

Xx%2- x (Sum of roots) + (Product of roots) = 0
x2-x(a+b)+ (ab)=0
x?2-16x+25=0 [Using (1) and (2)]

Thus, the required quadratic equation is x2 — 16x + 25 =0

ST N

Remove Watermark
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Mathematics

(Chapter — 9) (Sequences and Series)
(Class - XI)

Exercise 9.4

Question 1:
Find the sum to n terms of theseries 1 x 2 + 2 x 3+ 3 x4 +4 x5+ ...

Answer 1:
The given seriesis1 x 2+ 2 x3+3%x4+4x

5+ ..n"term,an=n(n+ 1)
28, = D ay =) k(k+1)
k=1 [
Zk3+Zk
=1 k=1

n(n+|)(2n+l)+ n(n+1)
6 2
)

2n+1 )
+1
3

(
'7("+1)(2n+4)
(

n(n+1
2

2 3
n(n+1)(n+2)
3

Question 2:

Find the sumto nterms of theseries 1 x 2 x 3+ 2 x3x4+3x4x5
+ ..

Answer 2:
The givenseriesis1 X 2 x 3 +2Xx3x4+3%x4x5+..n"term,

an=n(n+1)(n+2) \(b

= (n2 +n) (n + 2) &
=n3+ 3n2+ 2n OQ
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nS, = .Z;ai
L=l
=S K +35 K +23k
t=l w=l w=l

e

| n(n+1) '+3n(n+l)(2n+l)+2n(n+l)
T 2z | 6 2
| n(/72+l) +n(n+l)2(2n+|)+"("+|)

1)[ n(n+1
=n(n7+ ) n("; )+2n+l+2]

-

_n(n+1) —(13 +n+4n+§}

Z | 2
= "('Hl)(n: +5n+6)
4

1); 5
= A -)(n' +2n+3n+6)
4

. n(n+l)[n(n+2)+3(n+ 2)]

4

_n(n+1)(n+2)(n+3)

B 4
Question 3:
Find the sum to n terms of the series 3 x 12 + 5 x 22 + 7 x 32 + .. . Q®

RN

Answer 3: @ bec}
The given series is 3 x12 4+ 5 x 22 + 7 x 32 + ... nth term, (&% Q
an=(2n+1)n?>=2n3+n? 6\' %'
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1l

~S, =) a,

n

k=1

Y =(2k+K) =23 K+ 3K
k=1 k=1

k=

[n(n-rl)]: n(n+1)(2n+1)
6

I
9

|

n(n+1)’ p n(n+1)(2n+1)
2 6

_n(n+1) 2n+l]

_n(n+1)[ 30 +3n +2n+l]

—n(n+l)+

-

2 3

n(n+1)[ 3n® +5n+1
2 3

n(n+1)(3n° +35n+1)
) 6

Question 4:

Find the sum to n terms of the series ! l I

+ + + ..
Ix2 2x3 3x4

Answer 4:

|>12+2lz+3>l<4+'"
X3
Gb N CJ
b

nth term, an = ! s (By partial fractions) @

n(n+1) n n+l

The given series is
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L 22
1 1
a,=———
=R - SOl
S =37
| |
a,=———-
n o n+l

Adding the above terms column wise, we obtain

| | I 1 1 |
&+ +..¥a,=-+=+=+..—|=| =+ z+=+.—
{ “2"'3 n 2 3 4 n+l

-

) I n+l=1 n
s8, =1- = =
n+l n+l n+l

Question 5:
Find the sum to n terms of the series

Answer 5:
The given series is 52 + 62 + 72 + ... + 202 nt" term,

an=(n+4)2=n%2+8n+ 16

S, =y a, =) (k' +8k+16)

k=1 k=1
=ik2 +82k+i16
kel kel kel
~n(n+1)(2n+1) 8n(n+1)
R 6 g
16t term is (16 + 4)2 = 202

+16n

5% +62+72+...+20°
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- l6(|6+l)(2x|()+l)+8xl6x I6+I)

NN = P 5 +16x16
=(]6)(]7)(33)+(8)X]6:(I6+|)+l6x|6
063, @007,
=|496+6I()88+ 256 ’
=2840

550+ T s +202=2840

Question 6:

Find the sum to n terms of the series 3 x 8 + 6 x 11 + 9 x 14 +...

Answer 6:

The given seriesis3 x 8 + 6 X 11 + 9 x 14 + ... an
= (n" term of 3, 6, 9 ...) x (n™ term of 8, 11, 14 ..)
= (3n) (3n + 5)

=9n% + 15n

-8, = ia&. = z”:(9k3 +15k)
k=1 k=1 :
=93 k74153 &
L=l L=l

2
S5 n(n+l)6(..n+l) - n(n;—l)

_3n(n+1)(2n+1) L 15n(n+1)
- 2 2

3n(n+1)
2

(2n+1+5)
. 3n(n+ ])(2n+6)
2

= 3)1(;1-+ 1)(n+3)
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Question 7:

Find the sum to n terms of the series 12 + (12 + 22) + (12 + 22 + 32) + ...
Answer 7:

The given series is 12 + (12 + 22) + (12 4+ 22+ 33 ) + ... an

=(12+ 22+ 33 +....... + n?)

o n(n+1)(2n+1)

6
- n(2n2 +3n+1) 2430 +n
6 6

I 5. 1 5 1
=—n+—n"+—-n
3 2 6

.'.;S’,,zrz’a‘_
k=1
S RN LTI |
—Z(gk +2A +6k)

£l
I " % I " 4 l ”
=— >k +=—D k+—D k
IR DI
2 2 5
_lni(nrl) 1 n(n+ @ {0 #(n+1)
3 (2) 2 6 6 2

_n(n+1)| n(n+1) ” (2n+1) A
6 2 2 2

A+ 2+ n+2n+1+1
6 2

_n(n+))f '.'itr#'f}e'_t?] %
6 | 2 Xe
=n(n+l)‘n(n+l)+2(n+l)] ®6>®€)\\
6 | 2
=n(n+l) —(n+l)(n+2)] Kg QK
S — C_)\'(b Y

- n(n+1) (n+2)
N 12 0Q
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Question 8:

Find the sum to n terms of the series whose nt" term is given by n (n + 1)

(n + 4).

Answer 8:

an=nn+1)(n+4)=nn>+5n+4)=n3+5n%+4n

By =§”:al =§":/c-"+sik’ +4ik
k=1 h=l k=1

k=1

F n:(n+l)2 z 5n(n+l)(2n+l)+4n(n+l)
4 6 2

R b
_ n(n+1) n(n+l) § 5(-n+l)+4]
9 D) 3

- e

S—

n(n+1)[ 30 +3n+20n+10+24
2 6
_n(n+] K +23n+34]

S—

2 6

n(n+ l)(3n: +23n+ 34)
12

-

PDFelement
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Question 9:
Find the sum to n terms of the series whose nt" terms is given by n? + 27

Answer 9:

an=n2+2n

.'.S"=Zn:k3+2‘ =ik:+i2k (1)
k=1 k=l k=l

n
k 1 2 3
Consider ZZ =2 +2°+27+ ...
k-l

The above series 2, 22, 23 ... is a G.P. with both the first term and common

ratio equal to 2.

Therefore, from (1) and (2), we obtain

n(n+1)(2n+1

S, =gk-’+z(2“-|)= )+2(2°-1)
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Question 10:

Find the sum to n terms of the series whose nt" terms is given by (2n - 1)2

Answer 10:

an=02n-1)2=4n>-4n+1

"

58,=3 a, =3 (4K~ 4k +1)
k=1 A=l

n

Y K-> k+ Y]
k=l

k=l k=l
_ dn(n+1)(2n+1) 5 4n(n+1) o
6 2
_2n(n+1)(2n+1)

= 3 —2n(n+l)+n

-2(2n2+3n+l)

n - —2(n+l)+l]

=n

—4nz+6n+2—6n—6+3}
3

e

—4112 -1
=n
3

n(2n+1)(2n-1)

= - Gb c,;\\'o
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N
e Mathematics
(Chapter — 9) (Sequences and Series)
(Class - XI)
Miscellaneous Exercise on chapter 9
Question 1:

Show that the sum of (m + n)" and (m - n)t terms of an A.P. is equal to

twice the mth term.

Answer 1:

Let a and d be the first term and the common difference of the A.P.
respectively. It is known that the k" term of an A. P. is given by
ak=a+(k-1)d

sa@m+n=a+(mMm+n-1)d

am-n=a+(m-n-1)d

amn=a+ (m-1)d
“am+n+am-n=a+(m+n-1)d+a+(m-n-1)d
=2a+(mM+n-1+m-n-1)d

=2a+ (2m-2)d

=2a+2(m-1)d

=2[a+ (m-1)d]

= 2am

\
Thus, the sum of (m + n)t and (m - n)% terms of an A.P. is equal to twice Q)b
the mt™ term.
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Question 2:

If the sum of three numbers in A.P., is 24 and their product is 440, find the
numbers.

Answer 2:

Let the three numbers in A.P. bea -d, a, and a + d.
According to the given information,
@-d)+ @ +@+d)=24..(1)

= 3a = 24

~a==8

(a-d)a(a+d) =440 .. (2)

= (8 -d) (8) (8 +d) =440

= (8-d) (8 +d) =55

= 64 - d? =55
> d?=64-55=9
>d==%x3

Therefore, when d = 3, the numbers are 5, 8, and 11 and when d = -3,
the numbers are 11, 8, and 5.

Thus, the three numbers are 5, 8, and 11.

Question 3:

Let the sum of n, 2n, 3n terms of an A.P. be Si, S> and Ss, respectively, show
that S3 =3 (S2- S1)

Answer 3:
Let @ and b be the first term and the common difference of the A.P.

respectively. Therefore,
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S, = ;—1[20+(n— d]

S,

2
="?" 2a+(2n- I)d]=n|:2(1+(2n- I)a’]

S, ="[2a+(3n-1)d]
From (1) and (2), we obtain

S, =S, =n[2a+(2n-1)d -2 2a+(n-1)d]

:

=g[2a+(3n—l)d]

da+4nd -2d -2a—nd +d }
)

—

"

e

2a+3nd - d]

~3(8,-8,)= ’;n[2a+(3n— d]=S,

Hence, the given result is proved.

Question 4:

[From (3)]

Find the sum of all numbers between 200 and 400 which are divisible by 7.

Answer 4:

The numbers lying between 200 and 400, which are divisible by 7, are

203, 210, 217 ... 399

=~ First term, a = 203
Last term, / = 399
Common difference, d = 7
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Let the number of terms of the A.P. be n.
~an=39=a+(n-1)d

=399 =203+ (n-1)7

=7 (n-1) =196

>n-1=28

=>n=29

-
58, = %9(203+399)

29
=—(602
> (602

=(29)(3OI)
=8729
Thus, the required sum is 8729.

Question 5:

Find the sum of integers from 1 to 100 that are divisible by 2 or 5.

Answer 5:

The integers from 1 to 100, which are divisible by 2, are 2, 4, 6... 100.
This forms an A.P. with both the first term and common difference equal to

2.

5100 =2 + (n -1) 2

=>n =750

2+4+6+...+100=¥[2(2)+(50-1)(2)]

50
e [4+98]

25)(102)
2550
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The integers from 1 to 100, which are divisible by 5, are 5, 10... 100.

This forms an A.P. with both the first term and common difference equal to
5.

~100=5+(n-1)5
= 5n =100

=>n=20

20
5 - 2 20—
5+10+...+100 = ==[ 2(5) +(20~1)5]

=10[10+(19)5]
=10[10+95]=10x105
=1050

The integers, which are divisible by both 2 and 5, are 10, 20, ... 100.

This also forms an A.P. with both the first term and common difference
equal to 10.

~»100 = 10 + (n -1) (10)
= 100 = 10n

=>n=10

|0+20+...+100:?[2(10%(10—1)(10)]

=5[20+90]=5(110)=550

~ Required sum = 2550 + 1050 - 550 = 3050

Thus, the sum of the integers from 1 to 100, which are divisible by 2 or 5,
is 3050.

Question 6:

Find the sum of all two digit numbers which when divided by 4, yields~1"as
remainder.
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Answer 6:

The two-digit numbers, which when divided by 4, yield 1 as remainder, are
13,17, ... 97.

This series forms an A.P. with first term 13 and common difference 4.

Let n be the number of terms of the A.P.

It is known that the nth term of an A.P. isgiven by, an=a + (n-1) d

~97 =13 + (n -1) (4)

=4 (n-1) = 84

>n-1=21

=>n =22

Sum of n terms of an A.P. is given by,

S, = 2[2(14»("-!)(1]

22 :
SR =—2—[22(|3)+(2z—1)(4)]
=11[26+84]
=1210
Thus, the required sum is 1210.

Question 7:

If f is a function satisfying f(x + y) = f(x).f(y) for all x, y € N, such that f(1)
= 3 and Y7 f(x) = 120, find the value of n.

Answer 7:

It is given that,

f(x+y)="Ff(x)xf(y) forallx, y e N oo (1)
f(1)=3

Takingx =y =1in (1),
weobtainf(1+1)=fR2)=f(1)f(1)=3x3=9
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d

Similarly,
FA+1+1)=FfB)=f(1+2)=Ff1)f(2)=3%x9=27
fF(4)=Ff1+3)=f(1)f(3)=3x27=281

~F(1), f(2),f(3),

term and common ratio equal to 3.

a(r" - I)

r—1

It is known that,

Mn

It is given that, i/'(x)=l20
x=|

RO i,
3-1

:120:—2—(3"—1)

=3"-1=80
=3 =81=3*
Son=4

Thus, the value of n is 4.

Question 8:
The sum of some terms of G.P. is 315 whose first term and

Remove Watermark

..., thatis 3, 9, 27, ..., forms a G.P. with both the first

the common

ratio are 5 and 2, respectively. Find the last term and the number of terms.

Answer 8:
Let the sum of n terms of the G.P. be 315.

It is known that,
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It is given that the first term a is 5 and common ratio r is 2.

,-,3|5=M

2-1
=2"-1=63
=== (2
=>n=6

- Last term of the G.P = 6t term = ar® -1 = (5)(2)° = (5)(32)
= 160 Thus, the last term of the G.P. is 160.

Question 9:
The first term of a G.P. is 1. The sum of the third term and fifth term is

90. Find the common ratio of G.P.

Answer 9:
Let @ and r be the first term and the common ratio of the G.P. respectively.

~a=1 as =ar:=r? as=art=r
~r2+rt=90
>r+rr-90=0
. =14+41+4360 —1+4361 —1+19
= r-= = = =—100r9

"

2

srn=%£3 (Taking real roots)

Thus, the common ratio of the G.P. is +£3.
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Question 10:

The sum of three numbers in G.P. is 56. If we subtract 1, 7, 21 from these

numbers in that order, we obtain an arithmetic progression. Find the numbers.

Answer 10:
Let the three numbers in G.P. be a, ar, and ar?.
From the given condition,

a+ar+ar’=56

Sa(L+r+r2) =56 e, (1)

a-1,ar-7,ar?*- 21 forms an A.P.
w(ar-7)-(a-1)=(ar*-21)-(ar-7)
>ar-a-6=ar’-ar- 14
=ar’-2ar+a=38
sar’-ar-ar+a=38
=a(rr+1-2r)=38

Sa(F=1)2=8 oo (2)

From (1) and (2), we get

=>7(r?-2r+1)=1+r+r?
=>7rP-14r+7-1-r-r*=0
=>6r-15r+6=0

>6r-12r-3r+6=0
=>6r(r-2)-3(r-2)=0
=>(6r-3)(r-2)=0
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Whenr=2,a=8

When

Therefore, when r = 2, the three numbers in G.P. are 8, 16, and 32.
When, r=1/2, the three numbers in G.P. are 32, 16, and 8.

Thus, in either case, the three required numbers are 8, 16, and 32.

Question 11:
A G.P. consists of an even number of terms. If the sum of all the terms is 5

times the sum of terms occupying odd places, then find its common ratio.

Answer 11:
Let the G.P. be Ty, T2, T3, T4 ... Ton.
Number of terms = 2n
According to the given condition,
Ti+To+Ts+ .. +Ton=5[T1 + T3+ .. +T2p-1]
>5T1+To+T3+ ... +Ton=5[T1+T3+ ...+ T2p1]=0
>To+Ta+ ... +Tp=4[T1+ T3+ ..+ Ton-1]
Let the G.P. be a, ar, ar?, ar? ...
. ar(r" —l) 4><u(r" —I)

r—1 r—1
= ar=4a
=r=4
Thus, the common ratio of the G.P. is 4.

Question 12:
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The sum of the first four terms of an A.P. is 56. The sum of the last four
terms is 112. If its first term is 11, then find the number of terms.
Answer 12:

Letthe AP.bea,a+d a+2d,a+3d...a+(n-2)d,a+ (n-1)d.
Sum of first fourterms =a + (@ +d) + (a + 2d) + (@ + 3d) = 4a + 6d

Sum of last four terms
=[la+(n-4)dl+[a+(n-3)d]+[a+(n-2)d] +[a+n-1)d]
=4a + (4n - 10) d

According to the given condition,

4a + 6d = 56

= 4(11) + 6d = 56 [Since a = 11 (given)]
=>6d=12

>d=2

~4a + (4n -10) d = 112

= 4(11) + (4n - 10)2 = 112

= (4n - 10)2 = 68

=>4n-10 = 34

= 4n = 44

=>n=11

Thus, the number of terms of the A.P. is 11.

Question 13:

1f atby btex ctdx x=0) then show that a, b, c and d are in G.P.

a—bx b—-cx c—dx

Answer 13:
It is given that,
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a+bx b+ex

a—bx b—cx
= (a+bx)(b—cx)=(b+ecx)(a—bx)
= ab—acx +b’x—bex® = ab— b x + acx — bex®

= 2bh°x = 2acx

= b’ =ac
b ¢
:_z_ e ]
s (1)
Also. b+cx _c+ dx

b—cx c¢—dx
— (b - c.t‘)(c — d.\‘) = (b -cx)(c - d.\‘)
= be —bdx+ ¢’ x —cdx’ = be + bdx — ¢’ x —cdx’
= 2¢’x = 2bdx
= ¢’ =bd
ﬁ i - i _"(2)
d ¢
From (1) and (2), we obtain

b ¢ d
a b ¢
Thus, a, b, ¢, and d are in G.P.

Question 14:
Let S be the sum, P the product and R the sum of reciprocals of n terms in a Q)

G.P. Prove that P?R" = S” b\b :\'\0
Answer 14: @ : (OQ
Let the G.P. be a, ar, ar?, ar® ... ar" -1 &6 QK
According to the given information, 6\(0 cb-
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u(r" - l)
r—1
P= U" % ,‘l+2+ +0-1
i D) _(n+1)
=a" r ? o Sum of first » natural numbers is 1~ =
| L |
R=—¢—+. —=
a ar ar

e ]

|

ar
) lt,r.-l;) % ‘,,.lv,-. [ Lr...r"" forms aG.P]
. =l

ar""(r-1)
pirs _ gty (=)

]

=SII
Hence, P2 R" = S"

Question 15:
The pt, gt and rt" terms of an A.P. are a, b, ¢ respectively. Show that

(g—r)a+(r—p)b+(p—q)c=0

Remove Watermark g
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Answer 15:

Let t and d be the first term and the common difference of the A.P.
respectively.

The nth term of an A.P. isgiven by, a,=t+ (n-1)d

Therefore,

ap=t+(P-1)d=a .o (1)
ag=t+(@-1)d=D v (2)
ar=t+(r-1)d=cC .cevevveieeeenn . (3)

Subtracting equation (2) from (1), we obtain
(p-1-g+1)d=a-b
>(p-q)d=a->b

a-b

P—q <3
Subtracting equation (3) from (2), we obtain
(g-1-r+1)d=b-c
>(g-rnd=b-c

b-c

sd=

=d= T (5)

Equating both the values of d obtained in (4) and (5), we obtain
a-b b-c

p-q q-r

=(a-b)(q-r)=(b-c)(p—q)

= aq—bg—ar+br=bp-bgq—-cp+cq
= bp—cp+cq—aq+ar—br=10

= (—aq+ar)+(bp—br)+(-cp+cq)=0
=-a(q-r)=b(r-p)-c(p-q)=0
=a(q-r)+b(r—p)+c(p—-q)=0

(By rearranging terms)

> w <

mm Wondershare
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Thus, the given result is proved.
Question 16:

If a (-+_],b(l+l}c(l+l) arein A.P., prove thata, b, carein A.P.

c a a b

Answer 16:
It is given that a (l+lj,b(l+lj,c[l+l) are in A.P.

b ¢ ¢ a a b

(L el L)oo 1)
¢ a b ¢ a b ¢ a
b(a+c) a(b+c) - c(a+b) b(a+c)

ac  bec  ab  ac
Pa+bc—a’b-a’c B cca+c’b-bla-be

abc - abc¢

= ba—-a’b+bc—a‘c=c’a-b'a+c’b-bie
= ab(b-a)+c(b* -a*)=a(e’ =b*)+bc(c-b)
= ab(b-a)+c(b-—a)(b+a)=a(c—b)(c+b)+bc(c—b)
= (b—a)(ab+cb+ca)=(c—b)(ac+ab+bc)
=>b-a=c-b
Thus, a, b, and c are in A.P.

=

Question 17:
If a, b, ¢, d are in G.P, prove that (a"+b"),(b"+6").(6"+d") are in G.P. Q)

O
Answer 17: @

It is given that a, b, ¢, and d are in G.P. \6 Q
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It has to be proved that (a” + b"), (b" + ¢c"), (c" + d") are in G.P. i.e.,
(b" + c")? = (a" + b") (c" + d")

Consider L.H.S.

(b" + ¢c")2 = b2" + 2b"c" + 2"

= (b2)"+ 2b"c" + (c?)"

= (ac)” + 2b"c" + (bd)" [Using (1) and (2)]
=3a"c" + b'c"+ b" c" + b" d"

=a"c"+ b'c'+ a" d" + b" d” [Using (3)]
=c'(@a"+ b") + d"(a" + b")

= (a" + b") (c" + d") = R.H.S.

~(b"+ Cc")? = (a" + b") (c" + d")

Thus, (a” + b"), (b" + ¢"), and (¢” + d") are in G.P.

Question 18:
If a and b are the roots of  x" =3x+ p=0and ¢, d are roots of

v’ ~12x+¢=0 ,where a, b, ¢, d, form a G.P.
Prove that (g + p): (g - p) = 17:15.

Answer 18:

It is given that @ and b are the roots of x2- 3x + p =0

ca@a+b=3andab =p i, (1)
Also, c and d are the roots of x* —12x+¢g =0
sCH+d=12and cd =G cooeeeeveeeeeeeeeee (2)

It is given that a, b, ¢, d are in G.P.

Lleta = x, b =xr,c=xr?,d=xr?From (1) and (2),
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weobtainx+xr=3=x(1+r)=3

xrZ + xr3 =12

=>xr?(1+r)=12
On dividing, we obtain
xri(1+r) 12

x(1+r) 3
=ri=4
—=>r=12
When r=2,x= 3 =§=l
1+2 3
When r=-2.x= 3 =i=—3
1-2 -1
Case I:
When r = 2 and x =1, ab = xr =2 cd = x%r° = 32
.q+p _32+42 34 17
g-p 32-2 30 15
e, (g+p):(g-p)=17:15
Case II:
Whenr=-2, x=-3, ab=x% =-18 cd = x2r° = - 288 ‘b ,QQ)
| QMRS
.q+p _-—288-18 =306 17 % @)
Tg-p -288+18 =270 15 {0

ie, (g+p):(qg-p)=17:15 i
Thus, in both the cases, we obtain (g + p): (g - p) = 17:15 Q%

@Q\x
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Question 19:

The ratio of the A.M and G.M. of two positive numbers a and b, is m: n. Show
that

Answer 19:
Let the two numbers be a and b.

A.M = 2 ;b and G.M. = Vab

According to the given condition,

a+b _m
2Jab  on
(u+b): o
4(ab)
s (u b ): _ 4ubﬂm‘
"
2
=(a+b)== abm (1)
n

Using this in the identity (a - b)? = (@ + b)? - 4ab, we obtain

) : dab(m® —n’
(a—h)'=4“b,m ool a ('" '7)

n n

_ 2Jab\m® —n? 3
= (a-p)= 225 -(2) &
Adding (1) and (2), we obtain OQ
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2ab (1 s i =)
\/cr_b(”’+\/”’3 —nl)

7
Substituting the value of a in (1), we obtain

pe 2Vt b o)
Vb (s =) (s =)

—a=

a
a:b=—= "b =
(&) > — 22
v (m— fm'—n?) (m m —n )
i

Thus. a : b=(m+\/m: -’ ):(m—\/m2 —n:)

Question 20:
Ifa, b, carein A.P; b, ¢, d are in G.P and l,
[ &

&=

a, c, earein G.P.

Answer 20:

It is given that a, b, c are in A.P.
cb=—a=c=-bD . . (1)
It is given that b, ¢, d, are in G.P.

.l are in A.P. prove that
e
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Also, l-l—l are in A.P.
¢ d c
EANES A, 1
d ¢ e d
Bl 1 -(3)
d ¢ e

It has to be proved that a, ¢, e are in G.P. i.e., ¢? = ae

From (1), we obtain
2b=a+c
a+c
2
From (2), we obtain

d

=
b

Substituting these values in (3), we obtain
2 1 . 1

= b=

& o8
o (R
o 2are)
2c¢”
a+c e+

5

- ce

|
(& e
C

a+c e+c

¢ e
=(a+c)e=(e+c)e
= ae+ce=ec+c’

=>C: = ue @

Thus, a, ¢, and e are in G.P.

Question 21: &% QK@

Find the sum of the following series up to n terms: (b
(i) 5 + 55 + 555 + ... (ii) .6 +.66 +. 666 +... %\'



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

mm Wondershare

Remove Watermark g PDFelement

Answer 21:
(i)5 + 55 + 555 + ...
LetS, =5+ 55 + 555 + ..... to n terms

=§[9+99+999+...w n terms)
9
=-§[(I0—l)+(|01 _|)+(l03—l)+...to n terms]

=§[(10+IOI +10° +..n tem1s)—(l+l+... n lenns):l

s[1o(10" —1) |
9  10-1
10(10 —l)_n

(ii) .6 +.66 +. 666 +...
Let S, = 06. + 0.66 + 0.666 + ... to n terms
=6[0.1+0.11+0.111+...ton terms]

= 8[0.9 +0.99+0.999 +...ton terms]

(-16) (- ) (-1
|l——|[+| 1 =— |+| | =—= |+...tOn terms
i 10 10° 10°

(1+1+..n tem'ls)—i(l +L+L,,+...n terms)
10 10 10°

Wl el

L
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Question 22:
Find the 20th term of the series 2 x4 + 4 X 6 + 6 x 8 + ... + n terms.

Answer 22:
The given seriesis2 x4 +4 x 6+ 6 x 8+ ..nterms

~nthterm = an=2n x (2n + 2) = 4n? + 4n
ax = 4 (20)2 + 4(20) = 4 (400) + 80 = 1600 + 80 = 1680
Thus, the 20" term of the series is 1680.

Question 23:
Find the sum of the first n terms of the series: 3 + 7 + 13 + 21 + 31 + ...

Answer 23:
The given seriesis 3 + 7 + 13 + 21 + 31 + ...

S=3+7+13+21+ 31+ ..+ anp-1+an

S= 3+7+ 13+21 + ... +an—2+an—1+an
On subtracting both the equations, we obtain

S-S=[3+(7+13+21+31+ . . +an1+an)]-[(3+7+13+21+
31 + ...+ an—l)

+ an]

S-S=3+4+[(7-3)+(13-7)+ (21 - 13) + ... + (@ - @n-1)] - an

0=3+[4+6+8+..(n-1)terms] - an
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an=3+[4+6+8+ ..(n-1) terms]

n

=a, =3+(

2")[2X4+(n—1—|)2]

=3+(~n2--1]|:8+(n—2)2:|
(

n-1)
=3+»-~~_5 ““(2n+4)

-—

=3+(n—-1)(n+2)

3+(n: +n—2)

n“+n+1

.'.gak =gkz+gk+gl
- n(n-&-l)(2n+l)_’_n(n+l)+n
6 2
[(n+1)(2n+1)+3(n+1)+6

sosaes]

]

[2n2 +3n+14+3n+3+6

g

2n° +6n+10
6

=n

=%(n2 +3n +5)

Question 24:

If S1, S, S3 are the sum of first n natural numbers, their squares and their
cubes, respectively, show that  9s; =S,(1+8S,)

Answer 24:

From the given information,

mm Wondershare
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_n(n+1)
Sis—>5
S==nz(n+l)2

4

8n(n+1)

A

2 Iz
Ilere.&,(l+8$,)=n (n4+ ) I:I+

|

2 1)’ .
=$[l+4n‘+4nj
n*(n+1)° ;
=———(2n+1
) (2n+1)

N (n(n+1)(2n+ I)]2
4

[n(n+1)(2n+1)]
(6)°

= %[n(n +1)(2n + l)]z
_ [n(n+l)(2n+|)T
4

Also, 952 =9

Thus, from (1) and (2), we obtain 9S; =S, (1+8S,)

Question 25:

3
Find the sum of the following series up to n terms: 1

Answer 25:

. o P+2'+3 +..+n’
The nt term of the given series is

(1)

-(2)

P42 P42+
+ + —

1+3 1+3+35

[n(n+1)}

1+3+5+..+(2n-1)

14+345+.. +(7n

S
&Q
%ro

‘\
&’b
D
N
A

Wondershare
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Here, I,3.5,.,.(2n -I} 1s an AP, with first term a, last term (.’In—l) and number of terms as n

1+3+5+..... +(2n-l)=5[2xl+(n—l)2]=n’
Sa n-(ntl) -(n+|) =ln:+ln+_
4n” 4 4 2
'.'S“ =ZaR =Z _I_K:'+_].K+_I_.J
kel kand 2 4
)
=ln(n+l)(-n+l)+ln(n+l)+ln
4 6 2 vl 4
n[(n+l)(2n+l)+6(n+l)+6]

) 24
n[an+3n+l+6n+6+6]
n(2n2+9n+l3)

B 24

Question 26:

|><23+2><32-;-...-4-r|><(n+l)2 _3n+35

Answer 26:

nt term of the numerator = n(n + 1)2=n3+ 2n%2 + n

nth term of the denominator = n2(n + 1) = n3 + n2

mm Wondershare
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Ix2% +2x3* +...+nx n+l) Z“k Z(l\ +2K° +k)

Z a, KZ:;(l\'-‘»rK:)

Px2+2°x3+....+n°x n+l

Here,‘:(l\"+2l'\':+K)
K=l

) nz‘(}n+l~_): . 2 n(_n +|,,),(2,n+|,)+ n(n+ |_)_
4 6 :

_ n(n+l) (n+l) 2(2n+l)+l]

2 2 3

2 6

_n(n+1)[3n"+3n +8n+4+6.]

= n»(n+l»v) P3n"+lln+lO]
12 &

5 n(n+1) 3n° +6n+5n+ IO]
12 =~

" n(|]12+l) 2)+5(n+2)]

_n(n+1)(n+2)(3n+5)
12

-

3n(n+

" _n’(n+l): n(n+1)(2n+1)
)= "B 6

Also.zn:(l(" +K
K=l

Wondershare
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2 2 3

n(n+1)[ n(n+1) 2n+l]
= -
_n(n+1)[3n* +3n+4n+2
S 2 6

=n(n+l) 3n:+7n+2:|
12 =+

n(n+1)r. .
= T 3n'+6n+n+2]

n(n+1)r
= (IZ )_3n(n+2)+l(n+2)]
=n(n+l)(n+2)(3n+|)

12
From (1), (2), and (3), we obtain

~ n(n+1)(n+2)(3n+5)
1%2° +2x3* +..+nx(n+1)" 12

Px2+2°x3+...+n°x(n+1) n(n+|)(n;2)(3n+l)
12

-

) n(n+1)(n+2)(3n+5) _30+5
n(n+1)(n+2)(3n+1) 3n+l

Thus, the given result is proved.

Question 27:
A farmer buys a used tractor for Rs 12000. He pays Rs 6000 cash and Q)
agrees to pay the balance in annual installments of Rs 500 plus 12% b‘b ,’\\F)

interest on the unpaid amount. How much will be the tractor cost him? <

Answer 27:
It is given that the farmer pays Rs 6000 in cash. Q%
O
N
S Q\ A\
NS
1‘(\\
I\\



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

mm Wondershare

Remove Watermark

H  PDFelement

Therefore, unpaid amount = Rs 12000 - Rs 6000 = Rs 6000
According to the given condition, the interest paid annually is
12% of 6000, 12% of 5500, 12% of 5000... 12% of 500

Thus, total interest to be paid

= 12% of 6000 + 12% of 5500 + 12% of 5000 + ... + 12% of 500
= 12% of (6000 + 5500 + 5000 + ... + 500)

= 12% of (500 + 1000 + 1500 + ... + 6000)

Now, the series 500, 1000, 1500 ... 6000 is an A.P. with both the first
term and common difference equal to 500.

Let the number of terms of the A.P. be n.

~» 6000 = 500 + (n - 1) 500

>1+((n-1)=12

=>n=12

~ Sum of the A.P

2 ;
e= '; [2(500)+(12-1)(500) ] = 6[1000+ 5500] = 6(6500) = 39000

Thus, total interest to be paid

= 12% of (500 + 1000 + 1500 + ... + 6000)

= 12% of 39000 = Rs 4680

Thus, cost of tractor = (Rs 12000 + Rs 4680) = Rs 16680

Question 28:
Shamshad Ali buys a scooter for Rs 22000. He pays Rs 4000 cash and agrees
to pay the balance in annual installment of Rs 1000 plus 10% interest on.thé

unpaid amount. How much will the scooter cost him?

>T = 1<
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Answer 28:

It is given that Shamshad Ali buys a scooter for Rs 22000 and pays Rs 4000
in cash.

~ Unpaid amount = Rs 22000 - Rs 4000 = Rs 18000

According to the given condition, the interest paid annually is

10% of 18000, 10% of 17000, 10% of 16000 ... 10% of 1000

Thus, total interest to be paid

= 10% of 18000 + 10% of 17000 + 10% of 16000 + ... + 10% of 1000
= 10% of (18000 + 17000 + 16000 + ... + 1000)

= 10% of (1000 + 2000 + 3000 + ... + 18000)

Here, 1000, 2000, 3000 ... 18000 forms an A.P. with first term and common
difference both equal to 1000.

Let the number of terms be n.

~» 18000 = 1000 + (n - 1) (1000)

=>n=18

. 1000+ 2000 +. ...+ 18000 :g 2(1000)+(18—1)(1000) ]

=9[2000+17000]
=171000
- Total interest paid = 10% of (18000 + 17000 + 16000 + ... + 1000)

= 10% of Rs 171000 = Rs 17100
. Cost of scooter = Rs 22000 + Rs 17100 = Rs 39100

Question 29:

A person writes a letter to four of his friends. He asks each one of them to
copy the letter and mail to four different persons with instruction that they,
move the chain similarly. Assuming that the chain is not broken and thatiit
costs 50 paise to mail one letter. Find the amount spent on the peStage

when 8t set of letter is mailed.

> <



http://cbs.wondershare.com/go.php?pid=5239&m=db

https://millionstar.godaddysites.com/

mm Wondershare

Remove Watermark

H  PDFelement

Answer 29:
The numbers of letters mailed forms a G.P.: 4, 42, ... 48
First term = 4
Common ratio = 4
Number of terms = 8
It is known that the sum of n terms of a G.P. is given by
a(r" - l)
(N
o A4 -1)  a(ess
SN i ™
It is given that the cost to mail one letter is 50 paisa.

)
[o))
|
S—

Il

4=

—
[
h
h
‘d
h

S

(39
o

. Cost of mailing 87380 letters = Rs 87380xi§0% = Rs 43690

Thus, the amount spent when 8t set of letter is mailed is Rs 43690.

Question 30:
A man deposited Rs 10000 in a bank at the rate of 5% simple interest

annually. Find the amount in 15% year since he deposited the amount and

also calculate the total amount after 20 years.

Answer 30:
It is given that the man deposited Rs 10000 in a bank at the rate of 5%

simple interest annually. _ 130 «Rs 10000 = Rs 500

- Interest in first year 10000 + 500 + 500 + ...+ 500

Idumes

>Tw 1<
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~ Amount in 15% year = Rs
= Rs 10000 + 14 x Rs 500
= Rs 10000 + Rs 7000

= Rs 17000
Amount after 20 years = Rs 10000 + 500 + 500 +....+ 500

— Rs 10000 + 20 x Rs 500
— Rs 10000 + Rs 10000
= Rs 20000

Question 31:
A manufacturer reckons that the value of a machine, which costs him Rs
15625, will depreciate each year by 20%. Find the estimated value at the
end of 5 years.

Answer 31:
Cost of machine = Rs 15625

Machine depreciates by 20% every year.

4
Therefore, its value after every year is 80% of the original cost i.e., 5 of

the original cost.

4 4 4
- Value at the end of 5 years = 15625><§><;><-.--><§ =5 % 1024 = 5120
\—‘..,.__;

Thus, the value of the machine at the end of 5 years is Rs 5120.

Question 32:
150 workers were engaged to finish a job in a certain number of days. 4

workers dropped out on second day, 4 more workers dropped out.on third
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day and so on. It took 8 more days to finish the work. Find the number of

days in which the work was completed.

Answer 32:

Let x be the number of days in which 150 workers finish the work.
According to the given information,

150x = 150 + 146 + 142 + .... (x + 8) terms

The series 150 + 146 + 142 + .... (x + 8) terms is an A.P. with first term
146, common difference -4 and number of terms as (x + 8)

= 150x =@[2(|50)+(x+8- I)(—4)]

= 150x = (x+8)[ 150 +(x+7)(-2)]
= 150x =(x+8)(150-2x-14)

= 150x = (x+8) (136 -2x)

= 75x=(x+8)(68-x)

= 75x = 68x —x’ +544 -8x

= 3" +75x—60x—-544=0

= x*+15x-544=0

= x’+32x-17x-544=0

= x(x+32)-17(x+32)=0
=(x-17)(x+32)=0

=X¥=17 orx=-32

However, x cannot be N
negative. .x = 17 @b
Therefore, originally, the number of days in which the work was K@ Q
completed is 17. Thus, required number of days = (17 + 8) = 25 \(b %_

S
Q
R
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Exercise 9.4 (Supplementary)

Find the sum to infinity in each of the following Geometric Progression.

Question 1:

Answer 1:
Let s=1,3 1.
3’ 9

1
Here, a=1and r=3

So,

1 \
S_l_—— [UsmgSm —E
- L
2/
=3 =15
2
Question 2:
6,1.2,0.24 ..
Answer 2:
Let §5=6+124+024+ -
Here, a=6andr=0.2
So, S = 6 [Using S = L] @
1-0.2 1-r
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Question 3:
20 80
5 =, =
7’ 49
Answer 3:
20 80
Let S=5 7 50
7’ 49
4
Here, a=5and r=3
So,
g5 [Usin Sep = ——
= L -
7
_ 3
T3
Question 4:
B 3 3
’ 16’ 64’
Answer 4:
-3 3 -3
Let S= T
4’ 16’ 64
-3 -1
Here, a = —and r=—
4 4
So,
_3/
_ 4_ [ ==
g = 3 [Usmg Seo = 1_r]
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Question 5:
1 1 1
Prove that: 32 X 3¢+ X 38...= 3
Answer 5:
1 1 1
LHS = 32X 34X 3s...
I .. , 1 1
= 3274’8 [Power of 3isinthe formof a GP witha = > andr = E]
Y )
_ 5 ng 5., =
3\1=72 [Usmg Seo 1_r]
1
o)
= 3<1/2> = 31 = 3
Question 6:
letx=1+a+a®+--andy=1+b+ b?+ -, where |a| < 1and |b| < 1.
Prove that: 1+ ab + a?h? + -+ = —2>—
x+y—1
Answer 6:
Here, x=1+a+a®+
=L [Usin Sep = 2
1-a CRES 1-r
And y=1+4+b+b%+--
1 . a
= |Using 5 = 32
LHS =1+ ab + a?b? + -
1 i .
=T [Usmg Soo = pe] (R (2)

x+y—-1

RHS = bo ’\CJ

G Q>
o b
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1
Ga-a)(a-b

~ 1-b+1-a-(1-a)(1-b)
(1-a)(1-b)
1 (1-a)(1-b)

T (1-a)(1-b) " 2—a-b-1+a+b—ab

From (1) and (2),
xy

1+ab+a?b?+ - =
x+y—-1
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